Pre-Calculus 12 : Final Exam Written Answer Practice

Ql. The graph of y = f(x) is shown below.
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a) Sketch the graph of y + 2 = f(—4x + 12)
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2. Solve the following equations algebraically.

a) log,(x — 3) +log (x + 6) = 2 rest.
log, (x-2)(x+b) = 2
(X-2)(X+b) = b"

X* tbx-3x-18 = b
XX +3% - 54 =

0
(x+9)(x=b) =0
g

dotsn't
meet
restichon -
b) 32x=7x+1
2x l095 = (x+Dlog7
2,¢|093 = xlog'l-t-log')
leog3— xlogl = log7]
x (2logy -log1) = log7l

X = log 1

21093 - log 1

x > —b



” 3. For the function f(x) = HHi2xt32 4orermine the following (if they exist) :

x2+10x+16
: F(x) = (AB) X+
x - intercept X+t4 =0 (%¥8)(x+2)
(e ) o - el
xX+7
« y —intercept 5 L . @
: 0+1 z
Vertical asymptote
Point of discontinuity a4 x = -8 y = <844 = =4 . 2
. -8+1 -k -
) 1
| (-8 %
|
: 4. Rewrite y = 'j::l in the formy = —=+k
=9
x+L| =6 -+ |
-(-5x — 10)

1

5. If f(x) = 2x% + 5 and g(x) = Vx — 2 ; determine the value of :

a) f(g9(6)) b) g(f(-1))
- é(é): - ) ' f)= a(-f +5 8
f(2 = 20" + 5 T
0 8:+5 2T
3(1) = xl 1L

=13

= s




6. Prove the identity. '
L
2csc2xtanx

seCx =————
secx .
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